KIRLIN

WALL BRACKET LUMINAIRE

MOUNTING INSTRUCTIONS

(2) 2.500
PILOT HOLES

OUTLET BOX
(SUPPLIED BY
CONTRACTOR)

ALL COMPONENTS SUPPLIED BY
THE KIRLIN COMPANY UNLESS
OTHERWISE SPECIFIED

MOUNTING STYLE #1
(WALL ANCHOR MOUNT - SINGLE ARM)

LUMINAIRES MOUNTED IN THIS STYLE ARE HEAVY!! OUTLINE OF 5.78"
DO NOT ATTEMPT TO MOUNT DIRECTLY TO J-BOX!!! OUTLET BOX ’

7.62" ]

\}\%i; ON
- Jec@ee| |t 6.00"

—

L
\g:%gj

CYLINDER REMOVED
FOR CLARITY

WALL BRACKET ARM(S) AND
MOUNTING PLATE ALWAYS SHIP
FROM KIRLIN ATTACHED TO
LUMINAIRE. IN SOME DESIGNS,
THE ARM(S) WILL CONTAIN
ELECTRICAL COMPONENTS.

WALL PLATE WILL MOUNT
DIRECTLY TO THE FOLLOWING
OUTLET BOXES:

4" OCTAGON
3-1/2" OCTAGON
4" SQUARE
4-11/16" SQUARE

ALL COMPONENTS SUPPLIED BY
THE KIRLIN COMPANY UNLESS
OTHERWISE SPECIFIED

Parts List
ITEM | QTY DESCRIPTION
1 1 |WALL BRACKET ARM FULLY ASSEMBLED
2 1 |WALL MOUNTING PLATE (SHOWN WITH
3 2 |LAGBOLT 1/4X1.75 CYLINDER FOR REFERENCE)
4 2 [LAG SHIELD (ANCHOR)
5 4 |SCREW:3/8-16 x 1"
OUTLET BOX MOUNTING STYLE #2
(SUPPLIED BY TLET BOX MOUNT - SINGLE ARM
CONTRACTOR) (ou o ou SING ) OUTLINE OF
(2) OUTLET BOX SCREWS OUTLET BOX
(SUPPLIED BY CONTRACTOR)
5.25"
SQUARE

Parts List

ITEM DESCRIPTION

1 WALL BRACKET ARM

OUTLET BOX MOUNTING PLATE

WALL PLATE COVER

SCREW: 10-24 X .625

IS NN IN ]
3

albfw|n

SCREW: 3/8-16 x 1"

CYLINDER REMOVED
FOR CLARITY

WALL BRACKET ARM(S) AND
MOUNTING PLATE ALWAYS SHIP
FROM KIRLIN ATTACHED TO
LUMINAIRE. IN SOME DESIGNS,
THE ARM(S) WILL CONTAIN
ELECTRICAL COMPONENTS.

FULLY ASSEMBLED

(SHOWN WITH
CYLINDER FOR REFERENCE)

760279

INSTALL IN ACCORDANCE WITH ALL APPLICABLE NATIONAL AND LOCAL ELECTRIC CODES
INSTALL IN ACCORDANCE WITH ALL MARKINGS APPEARING ON OR INSIDE LUMINAIRES

FOR OUTDOOR INSTALLATIONS, USE SILICONE TO CAULK AROUND ALL EXPOSED SEAMS

APR 2019

THE KIRLIN COMPANY e 3401 EAST JEFFERSON AVENUE e DETROIT, MI 48207 ¢ 313-259-6400 e info@kirlinlighting.com e www.kirlinlighting.com



JKIRLIN

WALL BRACKET LUMINAIRE
MOUNTING INSTRUCTIONS

Page 2 of 2

IMPORTANT

FOR SOME SURFACES (I.E. SHEETROCK,
DRYWALL), ADDITIONAL WALL

REINFORCEMENTS MAY BE NECESSARY

BY CONTRACTOR TO SUPPORT WEIGHT

OF LUMANIARE

(4) @500
PILOT HOLES

OUTLET BOX
(SUPPLIED BY
CONTRACTOR)

ALL COMPONENTS SUPPLIED BY
THE KIRLIN COMPANY UNLESS
OTHERWISE SPECIFIED

MOUNTING STYLE #3

LUMINAIRES MOUNTED IN THIS STYLE ARE HEAVY!!
DO NOT ATTEMPT TO MOUNT DIRECTLY TO J-BOX!!!

h6.26"—ﬂ

ﬂ’ =
=
{
X
" (v)!v A 8 751!
11.00 solgysol -
@21 1 OR
R | RO 1.,
WALL BRACKET ARM(S) AND 18.875 AR 7.5
MOUNTING PLATE ALWAYS SHIP
FROM KIRLIN ATTACHED TO Nt
LUMINAIRE. IN SOME DESIGNS, = =
THE ARM(S) WILL CONTAIN F_}___.___
ELECTRICAL COMPONENTS.
4. 00" =

Parts List
ITEM QTY DESCRIPTION
1 %] 2 WALL BRACKET ARM
2 % 1 WALL MOUNTING PLATE
3 1 WALL PLATE COVER
4 4 LAG BOLT: 1/4x1.75
5 4 LAG SHIELD (ANCHOR)
6 % 8 SCREW: 3/8-16 x 1"
7 % 4 SCREW: 10-32 x .750

% = ACTUAL PART MAY DIFFER IN SIZE/QUANTITY

11.00”

DOUBLE SMALL ARM
ASSEMBLY

(AS SHOWN ABOVE)

18.875"

SINGLE LARGE ARM
DOUBLE LARGE ARM ASSEMBLY
ASSEMBLY
FULLY ASSEMBLED VIEWS

(SHOWN WITH VARIOUS DESIGNS
FOR REFERENCE)

760279
APR 2019

INSTALL IN ACCORDANCE WITH ALL APPLICABLE NATIONAL AND LOCAL ELECTRIC CODES
INSTALL IN ACCORDANCE WITH ALL MARKINGS APPEARING ON OR INSIDE LUMINAIRES

FOR OUTDOOR INSTALLATIONS, USE SILICONE TO CAULK AROUND ALL EXPOSED SEAMS
THE KIRLIN COMPANY e 3401 EAST JEFFERSON AVENUE e DETROIT, Ml 48207 ¢ 313-259-6400 e info@kirlinlighting.com e www.kirlinlighting.com




